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x
RA RB

tyz
|M | x∗ EI∆yu

1.08 56.92 92.50 6.00 110.25{
2.57 3.43 40.00 0.00 −77.71|
34.00 −3.00 28.00 4.00 −165.33;

−27.33 42.33 82.00 3.00 −547.50}
−36.00 46.00 72.00 6.00 −0.00~
−13.17 22.17 24.00 4.00 206.50�
32.67 −14.67 24.00 4.00 −120.00�
10.67 4.33 40.00 6.00 −208.50�
19.50 5.50 17.16 4.79 176.00u�
98.75 −49.75 199.00 8.00 −2975.63uu
−0.75 23.75 55.90 4.40 935.00u{
−0.17 29.17 20.00 9.00 −3.37u|
7.23 27.77 55.08 9.03 −709.54u;
52.50 2.50 50.00 8.00 −726.67u}

−32.50 71.50 130.00 4.00 −3162.67u~
−33.67 60.67 101.00 3.00 −652.88u�

3.17 13.83 13.67 6.02 151.04u�
−5.67 15.67 20.45 9.39 217.08u�
48.00 −5.00 77.50 5.00 −1134.58{�
21.50 −6.50 20.00 0.00 77.33{u
7.50 9.50 10.00 5.00 27.00{{
6.94 24.06 49.67 6.00 −247.50{|
11.57 14.43 44.30 3.93 559.19{;
14.00 6.00 21.33 3.33 64.00{}
27.64 17.36 44.58 3.95 393.70{~
42.50 7.50 30.63 8.50 −220.83{�
12.80 16.20 30.60 5.00 12.00{�
0.63 13.38 14.91 7.77 −93.91


